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TOPIC 3.3

y Supply (theory)
Ceynesian and Monetarist Schools

pemand for Money and Interest Rate Determination

MCQ Section

1n 2 banking system. all banks main-
tain 20 % of deposits as cash. .
One bank receives a new ca_sh deposit
of $200. Subsequent nf:t withdrawals
of cash from the banking system are
m' . -

what will be the resulting increase in
bank loans and the total increase in
pank deposits?

™ Tincrease in bank | total increase
loans in deposits
A $160 $200
B $160 $360
C $800 $1000
D $1000 $1000
[J08/P3/023]
2. The diagram shows the market for
loanable funds.
i
D, s,
D1 Sz
rate of
interest E,
0; ! o
loanable funds
Which chan

ges could cause the equi-
N move from E, to E,?
:ﬂ iherease in the propensity to
avc. and an increase in bank
lending
the dj 1
¢ discovery of oil reserves and

an lncrcase H .
in the
save propensity to

librium to

3.

C advances in technology and a de-
crease in bank lending

D a decrease in the propensity to
save and the introduction of new
products

[J08/P3/025]

What will be the short-run effect on
the level of output of an increase in
the money supply, according to
Keynesian theory (assuming the
liquidity trap does not apply) and
according to monetarist theory (as-
suming the increase is unanticipated)?

effect on output
Keynesian monetarist
theory theory
A increase increase
B increase unchanged
C unchanged increase
D unchanged unchanged
[NO8/P3/015]

In an economy, the volume of output
rises by 3% in a year, while the quan-
tity of money rises by 5%.

If the velocity of circulation of money
remains the same, what will be the ap-
proximate increases in the money
value of national income and the price
level?

increase in increase in price

money value of level
national income

A 5% %

B 5% 3%

C 8% 2%

D 8% 3%

[N08/P3/018]

HELPS 1t MCQ

1. C The extent of
credit creation depends
upon the size of the cash
ratio banks maintain, Thus
if the cash ratio is 20%
then the credit multiplier
is 5.

Credit multiplier

" Reserveratio 020
Increase in bank deposits
200x5=1000

Increase in bank loans
80 % of 1000 = 800

2. B Discovery of oil
reserves increases de-
mand for funds from D, to
D, and higher propensity
lo save results in an in-
crease in supply of funds
from S, to S,.

3. A Both Keynesians
and Moneterists agree
that an increase in money
supply would result in an
increase in AD and hence
an increase in output. In
the long run, however,
monetarists assume that
the economy operates at
full employment and in-
crease in money supply
would not resultin any in-
crease in output.
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The diagram shows three different
levels of money supply (MS) and
three different demand curves for
holding money balances (LP). The
initial equilibrium is at point X,
Banks create more credit and pcople
decide to hold less money as a
precaution against emergencies.

What is the new equilibrium point?

§A\
B
——LP

——LP

< LP

/
77

MS MS MS -
quantity of money
[NO8/P3/Q20]

According to monetarist theory, which
policy objectives are in conflict in the
short run, but not in the long run?

A economic growth and full employ- .

ment

B economic growth and price stabil-
ity

C price stability and full employment

D price stability and equilibrium in
the balance of payments

[J09/P3/017]

According to Keynesian theory, in
which circumstance would there al-
ways be an increase in the demand for
money?

real price interest
income level - rates
A | increase | decrease | increase
B | constant | constant | increase
C | increase | increase | decrease
D | constant | decrease | decrease
[J09/P3/Q22]

8. Assuming a constant income velocity

10

of circulation of money, if the rate of
growth of the money supply is 8%
and the average price level increases
by 5%, what will be the approximate
change in real output?

A 3% B +3%
C +8% D +13%
[NO9/P3/QI6]

According to monetarist theory,

what will be the short-run effect of

an unexpected increase in the

money supply?

A an appreciation of the foreign
exchange rate

B an increase in employment

C an increase in real wages

D an increase in the rate of interest
[NO9/P3/017]

The government sells $1 million of
bonds to the commercial banks. It
uses the proceeds from the sale to
provide subsidies to sugar producers
who pay them into their bank ac-
counts,

Assuming that notes and coins in cir-
culation remain unchanged, what will
be the immediate effect on the assets
and liabilities of the commercial
banks?

assels liabilities

bonds +$1 million

reserves —$1 million unchanged

bonds +$1 million | deposits +$1 million

0

reserves —§1 million | deposits —$1 million

unchanged unchanged

11

[NO9/P3/022]

According to loanable funds theory,

what will cause the rate of interest to
rise? '

A an increase in the rate of
investment

B anincrease in liquidity preference
C anincrease in the level of savings

D an increase in the supply of
money '

[N09/P3/023]

4, A MY < PT

A 5% incroase '
while V g constaml '
result in he $ 'Tm
<rease in PT (my, vy "
?f NY) Sinc(e ozfgu?lue
Increases by 3%'“’
money value of y, o
5%, therefora, '
must have ine
2%.

: !
pflOe IE’,\M
reaseq by

5.' C  Higher Credit ¢rp.
ation results i an i,
crease in money g [
and people Preferring 1y
hold less cash redugeg
demand for mongy,

6. C Monetarist
believe in a trade off ba-
tween inflation and ungp,.
ployment in the short ny
only. According to them
no such trade off exisi
in the long run.

7. € Increase in raa
income or price level both
result in an outward shift
in demand for money
whereas a decrease in
interest rate causes
people to prefer highar
cash balances.

8. B MV=PY

Change on left side of the
equation is 8%. The cor
bine change in PY onthe
right side of the equation
must also be 8%. Thus
the change in P = % then
shange in real output ]
must have been 3%.

9, B An increase i
MS causes interest raté
o fall and AD to rise, {ns
employment is likely 10
ingrease. Oplions A a8
are the reverse o( ex
pected outcome. QOption
is incorrect becaust
increase in MS would
increasa both the money
wages and price level.

o™
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= oram SHOWS changes in broad
12 The dmfow measures of money sup-
ar 4 and 20006.

Cand D
aﬂ: bcl“vccn 200

,.--—0-,,--"'---.~.
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0T 5g04 | 2005 = 2006

y area to have expe-
tion in either of its

f money supply?

which is the onl
rienced 8 contrac

measures ©
A Euroarea
B Britain
C Japan

D United States
[J10/P3/015]

13, What is a central assertion of
monetarist economics?

A Fiscal policy should be used for
the continuous management of
the economy.

B Major recessions can occur
despite an unchanged moncy
supply.

C The money supply is the main de-
terminant of aggregate monetary
expenditure,

D The vc'locity of circulation of
money is unstable over time.

[J10/P3/Q16]

rate of
interest

16. According to Keyn

14. The diagram shows the demand

curves and supply curves of loanable
funds,

Y

0 loanable funds

Which changes could cause the equi-
librium in the market for loanable funds

to move from E, to E,?

A a decrease in bank lending com-
bined with a decrease in business
confidence

B a decrease in the money supply
combined with an increase in the
propensity to consume

C an increase in bank lending com-
bined with an increase in the pro-
ductivity of capital

D an increase in the money supply
combined with a decrease in the

productivity of labour
[10/P3/021]

{5. If the money supply is fixed,

a decrease in economic activity
A increases interest rates.
B increases the transactions demand

for money.
C raises the liquidity preference

schedule.

D reduces the i
circulation,

ncome velocity of

[J10/P3/022]

esian theory, when
the money supply

will an increase in
put unchanged?

|eave the level of out

A when the liquidity trap is opera-
tive
when the money supply increase

B
was not antici pated

10. B Initially cash held
by the commercial banks
is roplaced by bonds, so
no change in tofal assets.
Laler when government
gives subsidy the money
goes into bank account
that increases both cash
(assets) and liabilities
{deposits) of commercial
banks by §1 million.

11. A Arisein Ihe rate
of investment increases
demand for funds thus
causes rate of interest to
rise. Options B and D
indicate Keynesian LP
theory whereas option C
would increase supply of
funds hence driving the
rate of interest down.

12. D Only US regis-
tered negative growth of
narrow money supply.
Euro arca, Britain and
Japan experienced posi-
live growth of both broad
and narrow money supply.

13. C Options A and B
reflect Keynesian eco-
nomics hence incorrect.
Option D is incorrect
because in monetarist
economics velocity of cir-
culation of money Is as-
sumed unstable only in the
short run.

14. A A decrease in
bank lending would shift
S, to §, (fall in supply
of funds) whereas a de-
srease in business confi-
dence would shift D, to
D, (fall in demand for
funds). Decrease in MS
and increase in MPC both
will cause supply of funds
to fall hence B is incorrect.
An increase in bank lend-
ing will cause S to rise
whereas an increase in
productivity causes D to
rise hence C is incorrect
while increase in MS
would increase S and a
decrease in labour produc-
tivity would reduce D for

funds,
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C when there is a floating exchange

D

ralc
when there is an immediate ad-
justment to expectations about
future price levels

[N1O/P3/Q17]

17. According to monetarist theory, what
will be the short-run and the long-run
cfTect of an unexpected increase in the
money supply on the real wage level?

short-run long-run
A decrease increase
B decrease unchanged
C unchanged increase
D unchanged unchanged
[N10/P3/018]

18. An increasc in the money supply
leads to a fall in interest rates. What
else will decrease as a result of these
changes?

A

B
C
D

the desire to hold idle money
balances

the price of equities
the price of government bonds

the velocity of circulation of
money
[N10/P3/022]

19. The diagram shows the market for
loanable funds.

rate of
interest

|

Dy

D,

o)

loanable funds

Which changes could cause the equi-
librium to move from E, to E,?

A a decline in business confidence
and an increase in bank lending

B a decrease in bank lending and
depletion of natural resources

—_—

C an increase in the propensity to
save and the discovery of new
mineral deposits

D improvements in technology and
reduction in the propensity to
save

[NI0/P3/Q23]

20. What will expand the money supply in
an open economy?

A a current account balance of
payments deficit

B an increase in the cash reserve

ratio of commercial banks

C government borrowing from

domestic residents

government intervention to pre-
vent an appreciation in the for-
eign exchange value of domestic
currency

[J11/P3/Q18]

21. According to Keynesian theory, in
which circumstance will there always
be an increase in the demand for

money?
real income | price level |interest rates
A | constant decrease increase
B| constant increasc decrease
C| increase decrease decrease
D | increase increase increase
[J11/P3/Q19]

22. Despite a government budget deficit,

a country’s money supply remains un-
changed.

What could explain this?

A The country has a balance of
payments surplus equal to the
government budget deficit.

The country’s foreign exchange
rate is fixed.

The government budget deficit is

financed by borrowing from the
central bank.

The government budget deficit
is financed by selling govern-
ment bonds to members of the
public.

[N11/P3/Q17]
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would leave interest rgte
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changed.

17. B Rising prices yij
reduce real wage in the
short run but worker
would not accept wage
increase less than the i
flation rate in the long nn,

18. D Idle balance,
prices of equities and gov
2mment bonds are allin-
versely related to the rat2
of interest. Thus all three
are expected to fise.

19, A Decline in busk
ness confidence reducés
investment and hence de-
mand for funds. While'n
crease in bank lending
increases the suppy
funds.
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D an open market sale of securitics

by the central bank
[12/P3/023)

27. In a banking system all banks main-

income will be in-
sult of a lower rate
t and a higher level of

28.

[N11/P3/Q22]

What will be
.tercst rates @
increase in the

interest rates

bond prices

o
fall

fall

ris¢

rise

|2 o= =1 |\

[N11/P3/023]

money supply?

A an appreciation of the forcign

exchange rate
B an increase in output

C an increase in real wages

According to monetarist theory,
what will be the short-run effect of
an unexpected increase in the

the likely effects on in-
nd bond prices of an
demand for money?

.

rate of interest

tain 10% of deposits as cash.
Customers withdraw $20000 in cash.
Assuming no subsequent net change
in notes and coins in circulation, by
how much will the banks have to re-
duce their net loans?

A $2000 B $18000
C $180000 D $220000
[J12/P3/024)

The diagram shows three different lev-
els of money supply (MS) and three
different demand curves for holding
money balances (L.P). The initial equi-
librium is at point X.

Banks create more credit and people

decide to hold more money as a pre-
caution against emergencies.

What is the new equilibrium point?

N
S

[——LP
———LP

/]
f

MS MS  MS

quantity of money
[N12/P3/021]

29. A country’s central bank engages in a

D an increase in the rate of interest
[J12/P3/020]

26. What would result in an increase in

o

the volume of bank deposits?

A an increase in the public’s desire

to hold cash
B

the centra] bank

cash

an increase in government expen-
diture financed by borrowing from

:l}:l.increasc in the proportion of
eir deposits that banks hold in

policy of quantitative easing (open
market purchase of securitics).

How is this policy meant to affect the
quantity of narrow money and the
quantity of broad moncy?

elfect on effect on
narrow money | broad money
A increase increase
B increase decrease
C decrease increase
D decrease decrease
[J13/P3/018]

HELPS 10 MCQ

21, B Arisain the price
lavel will cause trans-
actionary demand for
money and subsequently
lhe overall demand for
money to rise. While a
decrease in interest rale
reduces the opportunity
cost of holding cash and
therefore will increase
the quantity demanded of
money.

22. D A budget deficit
financed by borrowing
from general public does
not affect money supply.
Options A & C are likely
fo increase money Sup-
ply while B is irrelevant
in this context.

23. B A decrease in
MS causes rale of interest
lo rise and therefore re-
sults in a fall in invest-
ment expenditure and
hence income.

24. C An increase in
demand for money resulls
in an increase in the rate
of interest and hence
causes a fall in bond
prices because bond
prices are inversely re-
lated to the rate of inter-
est.

25. B An increase in
MS is likely to increase
AD, therefore output is
expected to rise in the
short run only.

26. B It will increase
money supply and thus
bank deposits.

27. C Money multiplier

[10 = i] thus
0.1

$20 000 x 10=$200 000.
10
200000 % —— = 20
*To0 20000
200000 20000
180000
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30. According to monetarist theory, what
will be the short-run effect on the level
of output and on the price level of an
unanticipated increase in the money

supply?

eflect on the

eflect pn outpu .
elicct on output price level

o 0O % >

increase increase
increase no change
no change increase

no change no change

[J13/P3/019]

31. The diagram shows the determination
of the rate of interest in an economy
where MS represents the money sup-
ply and LP represents liquidity prefer-

ence.

rate of

interest

MS

LP,

LP,

NS

33.

an increase in the liquidity of
the commercial banks

a restriction in the ability of the
commercial banks to lend

(H3P3/021

Which assertion could be described
as monetarist rather than Keynesian?

A

B

The interest elasticity of invest-
ment expenditure s close to zero,
The money supply is the main de-
terminant of aggregate monetary
expenditure.
The money supply is the main de-
terminant of output in the long-
run,
The velocity of circulation of
money is unstable over time.
[N13/P3/019]

0 quantity of money

The rate of interest rises as a result of
a shift in the liquidity preference curve
from LP, to LP,.

Which policy might be used to try to
maintain the rate at r,?

A

B
C
D

increased government expenditure
increases in indirect taxes
reductions in income tax rates

the purchase of bonds in the

open market
[J13/P3/022]

32, Other things remaining unchanged,
what is likely to be a consequence of
an increase in net cash withdrawals
from the commercial banks?

A an inflationary spiral
B an increase in the cash reserves

of the commercial banks

34. The diagram shows changes in broad
and narrow measures of money sup-
ply between 2004 and 2006,
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bonds increases g ang
therefore, maintaing tre'
rate atr,. Oplions A ¢
will increase income Jeag-
ing to a further increase
in LP and henca Intares
rate. Option B wil cause
price level to risa agaln
Increasing the LP and In-
terest rate.

32, D It will reduca the
amounl of deposits and
hence the ability of banks
to lend thus options B &
C are incorrect whie Als
|rrelevant,
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[N13/P3/Q1S]

[oanable funds theory,

ding 10 ‘
3 A;:?rwill cause the rate of interest to
W
rise?
A a decreasc in the demand for
<
money .
g an increase in the level of savings
C an increase in the rate of invest-
ment
p an Increase in the supply of
moneéy

[N13/P3/Q21]

36, Over a given period, money income in
afi economy increased by 6%. Over
the same period, prices rose on aver-
age by 4%.

What can be deduced from this?

A Real income increased by 2%.

B The income velocity of circulation
decreased by 2%.

C The money supply increased by
10%.
D The volume of output decreased
by 2%.
{J14/P3/Q16]

37, A closed economy has a banking sys-
tem consisting of a single bank. The
bank operates with a cash ratio of
10%.

Customers deposit $20 000 in cash.

Assuming subsequent net withdraw-
als of cash from the banking system
are zero, what is the maximum amount
of loans that the bank can create?

Topic 3.3 © page 7

38. The diagram shows the market for
loanable funds. The market is in equi-
librium at point X,

What could be the new equilibrium
point if there was a decline in busi-
ness confidence and an increase in
bank lending?

A

rate of
interest

loanable funds
[J14/P3/021]

39. According to monetarist theory, if
there is an unanticipated increasc in
the money supply what will be the
short-run effect on money wages, real
wages and the level of employment?

money wages | real wages | employment
A | decrease decrease increase
B | decrease increase decrease
C| increase decrcase increase
D increase increase decrease
[N14/P3/Q22]

40. Other things being equal, the money
supply in an open economy will
increase if

A domestic banks increase their
lending to foreign borrowers.

B the central bank buys foreign cur-
rency in the foreign exchange
market.

C the government sells bonds to
domestic residents.

D there is an increase in the volume
of imports to the economy.

A~ 52000 B $18000 [J15/P3/018]
C $180000 D $200000
[14/P3/017]
L.
& ",1 M

HELPS o MCQ

33. B Monetarisls be-
liove that MS is the main
sourca of aggregate mon-
etary demand—a basic
assumption of monetarisl
theory.

34. D Diagrams reflect
a percentage change in
growth of money supply
and only US experienced
negative growth in narrow
money supply during 2006.
Others experienced posi-
live growth in MS through-
aut the period.

35. C Arrise in invest-
ment increases the de-
mand for funds that drives
the rate of interest up.
Option B will reduce it
while A & D refer to
liquidity preference.

36. A %A money
income - % A price level
=% A real income

3. C

(i) Credit multiplier
- 1
cash ratio

. 1
ie. (10=—
( 0.1)

(i) Change in total depos-
its = initial deposit  credit
multiplier

(20,000 10 =200,000)

(iii) Change in total depos-
its —cash ratio = amount
of loans (200,000 — 20,000
=180,000)

38. D A decline in
business confidence re-
duces the demand for
funds, therefore, it causes
a shift from D, to D,
while increase in bank
lending increases the sup-
ply of funds, therefore, it
causes a shift from S, lo
S,
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41. Assuming a constant income velocity D a rcduFt:on in the loans made by E -0 8
of circulation of money, if the price the privale sector Lpg o Mc
level increases by 5% and the moncey 115/P3/024 Q

supply grows by 2%, what will be the
approximate change in real output
(transactions)?

44

.

What is likely to be the cffect on
interest rates and the supply of
money of a purchase of government

-39 B -2.5% 7 While | .
A ’ securitics by a central bank? 18 increq fun
C 43% D +7% ‘:iges coulg Ucnﬂnml

i ate YMeEnt, Hypa. - &M
[J15/P3/022] oS Tales | mOneY SUBPMY | incomg 1, eer
A increase increase €256 i1 prg o, 0

42. Why will an inﬂfnionary process be B increase decrease B g,
F)rought to a halt if the money supply C decrease decrease Wteney in foreiy
1s held constant? ocal el

. . D decrease increase @l curre "
A Consumption will decrease as — r!ses.'A” Ophos
money incomes decline, INIS/P3/021] ;:|S|u" l?hm “PDW?:
. . as gy

B Government expenditure will have . h flow 0est oy
to be reduced as government rey- 45: According to Keynesian theory, when eco of money ro th

enues decline will an increase in the money supply nomy.

’ leave the level of output 2

C The rate of interest will rise as . _Ol_l R Unf!hangcd. :41 .ri:es ?V;PY. 50 jf
more money is required for trans- A when fhe liquidity trap is constant {hirf’;:\d Vis
actions purposes. operative effect on the Ieff r:a'(:
‘ . . R N
D The stimulus to invest will decline B when the money supply increase  side 'S 2%. On the rigy
as the real burden of company Wwas not anticipated Ear;d Side P fises py gy
debt rises. C  when there is a floating exchange -+ e overal g

[J15/P3/023]

43. The diagram shows the determination

of the rate of interest in the economy,
where M represents the money sup-
ply and LP represents liquidity prefer-
ence.

46.

rate

D - when there is an immediate ad-

justment to expectations about
future price levels

[J16/P3/025]

What would cause an increase in the
transactions demand for money?

C an increase in the rate of interest
D an increase in unemployment
[NI16/P3/Q26]

should be 2%, therfors

Y must have decreageq
by 3%,

42 C A rise in price
level causes transactiop.
ary demand for money fo
increase that resulls inan
increase in interest rafe
and with no change in

1 \ . MS the interest rate will

LP1 LP, M A afall in the price of bonds remain high that shoud

rate of B an increase in nominal national help reduce inflation by
interest income lowering AD.

43. A A rise in NY
causes MD to increase.
Increase in MS causes
interest rate to fal thus
B is incorrect while € &
D are not related.

44, D Central bank making payments (o PeﬂFt‘fa:‘j
> increase money supply leading to a fall ininterest

O quantity of money 4. A Aliquidity trap exists when demand for r;c:’ﬂ
becomes infinite elastic, therefore a change mutp "
lo bring a change in interest rate and hence |

ansaﬂions&

What could cause the rise in the rate
of interest from r, to r,?

4. B Arisein NY causesarisein
mand for money. Options A & C
demand for money while D i likel
tions demand for money.

A an increase in national income

wil affect speculajm

W~

y to (educe tras

B an increase in the money supply

C a reduction in investment expen-
diture
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Econom"cf,(ﬂf Q
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T of Keynestal economic
_ apt

dity trap below which
rates are incfiective

um price that always

S

A Jiqui
I intchSl .
c uitibr!
::Icars the market

all value For the government
‘ :\'spenditure multiplier
| hort-run aggregate

“ an

a vertical s

Jy curve
i [J18/P3/024]

an monetary theory, when
ease in the supply of
fall in interest
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A if bond prices are expected to rise
p if investment demand is interest-
inelastic

if the liquidity preference sched-
ule is perfectly elastic

if the velocity of circulation of

money increases
[N18/P3/027]
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Other options are not
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A change in MS fails to
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Keynesian and Monetarist Schools
The Demand for Money and Interest Rate Deterp;
lnat

ioh
N

ESSAY Section

LIST QF QUESTIONS

(J08/P4/Q7)
(a) For what purposes do people demand
money? [10}

(b) Discuss the effect of an increase in the
supply of money on interest rates and
national income. [15]

(N09/P4/Qa4)

(a) Explain what is meant by the transactions,
precautionary and speculative demands
for money. [10]

(b) An employee moves to another job be-
cause it pays more. However, the old job
was paid weekly and the new job is paid
monthly. At the same time interest rates

are increased.

Discuss how these changes would affect
the employee’s transactions, precautionary
and speculative demands for money. [15]

(J10/P4/Q6)

(b) Explain what is meant by liquidity prefer-
ence and discuss how it might be affected
by an increase in unemployment. [13]

(N11/P4/Q6)

(a) For what purposes do people demand
money? [12]

(b) Assess, using the concept of liquidity pref-
erence, the possible links between an in-
crease in the supply of money, the rate of
interest and investment. [13]

(N12/P4/Q7)

(a) For what purposes do people demand
money? (10]

(N14/P4/Q6)

(a) Use liquidity preference theory to explain
why there is a demand for money.  [12]

Q7

Qs

Q9

(N15/P4/Q4)

(a) Explain the motives for the
money according to the
ity preference theory,

demand
Keyneslan |iqutgf
[

(b) A worker is a weekly paig shop asgy
Slan,

She is then promoted 1o Manage |
in

larger store on a higher
. monthl
the same time interest rates faﬁ( Salary.

Discuss how these changes would af
the worker's demand for money, ‘

(J17/P4/Q4)

(a) Explaiq why people demanqg mongy
according to the liquidity preference
theory. (1

(J17/P4/Q5)

Economic models have little practical rel
evance.

Discuss whether this is true of the analysis ol
how a fall in interest rates might affect a1
economy’s GDP. @

B
13
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/
(Wﬂrlnﬂ ‘pumoscs do people demand money? [10]
o ¢ wha offect of an increase in the supply of
i the d national income. [15]

0 piscy on interest rates an
moncy , [J0S/P4/QT]

—

- money refers to the amount of
the economy wishes to hold in

of money balances. In the Keynesian
e P28 ¢ the rate of interest, the demand for
am‘l)’Slf,s(:mt based purely on the demand for new
money ds. In fact,

w1 300 Keynes argued that there are
capital 'g:)inct motives for preferring to hold wealth
b dflsrm of money as opposed to holding either
|r:J :j;:ney financial asscts or physical assets.
;“, (rapsactions demand for money

[ndividuals need to hold money In order to m_ect
daily transactions such. as buying petrol, paying
for groceries OF purchasing a newspaper. Everyonc
will hold a certain amount of money since the.y are
normally paid weekly or monthly whereas-thelr ex-
penditure is spread over the whol'e period. The
average amount held for transactions purposes
depends upon the

Jemand fo .
wealth everyone 1o

level of money income, the price
Jevel and the frequency of pay days. In terms of
money income, the higher the money income, the
more likely the individual is to purchase more
goods and services, and_ therefore require extra
wransactions balances. If the price level increases
the demand for money for transactions purposes
will be higher. In the case of the frequency of pay
days, the more frequent, the lower the transactions
demand for money.

The precautionary demand for money

The demand for money is also based on the desire
to provide for the unexpected. The precautionary
demand for money allows the individual to-cover
unforeseen events, such as the car breaking down,
a lengthy period off work through illness, or an
unexpected redundancy. It is likely to be the case
l!iat as the rate of interest increases, the precau-
tionary demand for- money will fall as individuals
place their money in interest-bearing assets, i.e. the
cost of 'holding’ money has increased.’

Money balances held for these two purposes is

ca"ed.active balances (L) i.¢. money to be used as
d medlum of CXChangé. . frey

rate of
interest

L,

fe)

0] .
active balance

The speculative demand for money

Speculative demand for money is based on the ex-
pectation of making a speculative gain or avoiding
a loss. Money balances held for this purpose are
called idle balances (L,). Keynes outlined the
speculative demand for money in terms of the de-
sire to hold money or fixed income bonds. It is im-

~ " portant to note that the price of bonds and the rate
of interest are inversely related. When the rate of

interest is perceived to be unduly high by indi-

" viduals they will assume that the next move is in a

downward direction. As stated, when the rate of
interest falls the price of bonds increases and so
there are capital gains to be made. This being so,
when the rate of interest is high there will be a
substantial demand for bonds and hence a low
speculative demand to hold money. If, however, the
rate of interest is perceived to be unduly low then
individuals will assume that the next move is up-
wards, resulting in a fall in bond prices and, there-
fore, a capital loss for those who own bonds. If
this is the case, the demand for bonds is likely to
be low and those owning bonds will be looking to
sell them before the price falls. In this situation the

. speculative demand for money will be high as

shown in the graph below:

rate of 4

- interest

o —Q

: idle balance

The total demand for money LP is plotted against
' the rate of interest (r). This is found by the hori-

zontal addition of curves L, and L,,
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rate of 4
interest

®)

Liquidity trap

y

LP=L+L,

=) 4

total money balances

Any factor other than a change in interest rates,
that causes the demand for money to rise will shift
the LP curve to the right. For example, a rise in
national income or price level will cause L, to in-
crease, and thus LP will shift to the right.

In the money market the condition for monetary
equilibrium is that the rate of interest will be such
that everyone is just willing to hold the existing
supply of money, i.e. interest rate does the job of
equating the quantity of money demanded to the

- available supply and hence produces monetary

equilibrium. In the figure below, we see how the

- interest rate produces monetary equilibrium,

rate of 4 MS
interest
Ref-=emmemmaas
0 ) . Me mone_;

Equilibrium is achieved with a rate of interest Re
and the quantity of money Me, If the rate of inter-
est were above Re, people would have money bal-
ances surplus to their needs. They would use these
to buy securities and other assets, This would drive
up the price of securities and drive down the rate of
interest toward equilibrium. Similarly, if the rate of
interest were below Re, people would have insuffi-
cient money balances. They would sell securities,
thus lowering their prices and raising the rate of
interest until it reached the equilibrium level,

Changes in money supply will affect national in-
come via changes in the rate of interest. Let's as-
sume that monetary authorities seek to adopt easy
monetary measures and attempt to increase money
supply, say, by lowering liquidity ratio of commer-
cial banks.

Tople 3.3 o
. Py
Figure 3 W,
Part |
P

Rate of Rate of g
Interest Int 0
A Ms Ms, Eron

Me Me,

money QO

These measures shift the g,
from MS to MS, as shown in
graph. Consequently, there ;
money at the existing rate of
still wish to hold only Me of
Me, is now available. In orq
excess holdings of money,
“ bonds and securities. This attempt of ..
bonds-and other financial asgets increa u |
price and subsequently lowers the rate Oﬁenslthe,,
When interest has fallen to Re, the quanmerest‘
money demanded will have risen 1, equa|y,:f
available supply of Me,. Monetary equilibriyy :
thus re-established, though at a lower rate of intcl::
est. '

The curve in the other part of the graph js called
marginal efficiency of investment curye (or justy
demand for investment curve). ME] curve shows
the relation between planned investment and the
rate of interest, assuming all other things are
equal. It is derived from prospective yield of one
more unit of investment and the cost of obtaining
it. Firms make their investment decisions by com
paring MEI with the rate of interest. For instance,
if the expected real net rate of return on an indi
vidual project (MEI) is greater than the real rateof
interest, investment is profitable and hence is un-
dertaken. Thus investment demand curve shows
that the lower the rate of interest, the larger will be
the number of investment opportunities that will
show a profit and, hence, the larger the volume of
investment expenditure that firms wish to under:
take.

Note that, because both parts of the Figure a.bm
have the interest rate on the vertical axis, the inter
est rate can be compared between the two pars.
Both parts show an initial equilibrium with the
quantity of money of Ms and an interest ral¢ of R;
When this equilibrium is disturbed by an l{'c"iﬂ
in the money supply to Ms,, the rate of inter

the first pan:::';‘y
ragess s
Interest Re, b :f
Money balanee, gue
€ 0 eliminye ;hti:

People attempt to b

l

g
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I

= ii) of the Figure tells us that the

falls 10 ‘o I::rcst rate from Re to Rey increases
1 in the lﬂtmcn( expenditure from I, to 1,

a
L4 inves . )
desh in  seen that an increase in the money

we hav (| in the interest rate which, in

go faf afa N
appl eads “: an increase in desired investment
. ults 11 d our analysis to finally fig-

c
wm ™ We exten
\'pcnd. urc-lhcse changes subsequently affect NY.

out how
e Fig. 3

W=s+t+m
—"'_.'2=]_1+G+X

Al
 — ], =[+G+X

—

wilhdfﬂ“'nls ‘
d ¢S
& Jeakag

O,

—>
ANY

;um NY can be found by W = J. The with-
drawals function is the vcmcal.sum o.f ll.lc net sav;
ings, net taxes and i{nport ﬁfn'ctlons, Slmllarly, tota
injection is the vennFal addition of the mv'cstment,
government expenditure and export functlons..
Initially, the equilibrium can be located at point a,
indicating Y, as the equilibrium level of NY Arise
in investment expenditure shifts the J function up-
wards and will cause NY to increase (Y, —Y,) by
more than the increase in investment (b c). The
number of times that the increase in income (AY) is
greater than the increase in investment is known
as the multiplier (k).
So what causes the multiplier effect? The answer
is that, any increase in injection into the economy
will produce a stream of new incomes through ad-
ditional spending. For example, if firms to invest
more, this will lead to more people being employed
and hence more incomes being paid to households.
Households will then spend part of this increased
income on domestically produced goods (the re-
mainder will be withdrawn). This increased con-
sumption will encourage firms to produce more
goods to meet the demand, Firms will thus employ
more people and other factors of production. This
leads t0 even more incomes being paid out to
:Oll_seholds. Consumption will thus increase yet
830, and so the process continues.

fr':;ee';]u!tiplie_r is not infinite, therefore, an in-
come tg ;"JeCt!o.ns would not cause national in-
ceive exti Ifm rising forevs:r. Each time people re-
someof i inl:come they will save some of i, pay
E"enlually ) axes and spend some of it on imports,
j"ICClions -WiS"lnhcome goes on rising, all the extra
Willdray ave lea_ked away into the three

S At that point the multiplier process

Equilibr

Question 2

will have ceased; a new equilibrium Y, will have
been reached.

Note that in this simple Keynesian theory we are
assuming that prices are constant (i.e. that there is
no inflation) and hence that any increase in income
is a real increase in income matched by extra pro-
duction. So when we talk about extra injections
into the economy causing extra spending, it is the
extra output that this spending generates that we
are concerned with. But if the economy is already
operating at full employment and no extra re-
sources available to produce output to match with
the rising demand for both capital goods and con-
sumer goods then increase in MS results in an in-
crease in price level and no change in real NY.

In conclusion, increase in money supply causes
interest rate to fall and real national income to rise
via increase in desired investment expenditure, But
the effect on real national income depends on the
ability of the economy to increase output in re-
sponse to increase in both consumer spending and
investment expenditure,

(a) Explain what is meant by the transactions, precau-

tionary and speculative demands for money. [10]

() An employee moves to another job because it pays

more. However, the old job was paid weekly and
the new job is paid monthly. At the same time in-
terest rates are increased.

Discuss how these changes would affect the
employee’s transactions, precautionary and specu-
lative demands for money. [15]

[NO9/P/04]

Essay

(@ The demand for money refers to the amount of

wealth everyone in the economy wishes to hold in
the form of money balances. In the Keynesian

- analysis of the rate of interest, is not based purely

on the demand for new capital goods. In fact,
Keynes argued that there are three distinct motives
for preferring to hold wealth in the form of money
as opposed to holding either non-money financial
assets or physical assets,

The transactions demand for money

Individuals need to hold money in order to meet
daily transactions such as buying petrol, paying
for groceries or purchasing a newspaper. Everyone

ST b BTl e T Ry —p—
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will hold a certain amount of money since they are
normally paid weekly or monthly whercas their ex-
penditure is spread over the whole period. The
average amount held for transactions purposes
depends upon the level of money income, the price
level, the time of the year and the frequency of pay
days. In terms of money income, the higher the
money income, the more likely the individual is to
purchase more goods and services, and therefore
require extra transactions balances. If the price
level increases the demand for money for transac-
tions purposes will be higher. In the case of the
frequency of pay days, the more frequent, the
lower the transactions demand for money.

The precautionary demand for money

The demand for money is also based on the desire
to provide for the unexpected. The precautionary
demand for money allows the individual to cover
unforescen events, such as the car breaking down,
a lengthy period off work through illness, or an
unexpected redundancy. It is likely to be the case
that as the rate of interest increases, the precau-
tionary demand for money will fall as individuals
place their money in interest-bearing assets, i.e.
the cost of 'holding' money has increased.

Money balances held for these two purposes is
called active balances (L)) i.e. money to be used as
a medium of exchange.

I

Rate of 4
interest
L, .
0 active balances Q

The speculative demand for money

Speculative demand for money is based on the ex-
pectation of making a speculative gain or avoiding
a loss. Money balances held for this purpose are
called idle balances (L,). Keynes outlined the
speculative demand for money in terms of the de-
sire to hold money or fixed income bonds. It is im-
portant to note that the price of bonds and the rate
of interest are inversely related. When the rate of
interest is perceived to be unduly high by indi-
viduals they will assume that the next move is in a
downward direction. As stated, when the rate of
interest falls the price of bonds increases and so
there are capital gains to be made. This being so,

Rate of 1\
interest

®)

: L
when the rate of interest is high there .
substantial demand for bonds anq hen“n]l be
speculative demand to hold money, 1f bo :e A gy
rate of interest is perceived to be ““&ul Iever, the
individuals will assume that the next movovf they
wards, resulting in a fall in bond prices an: is yp,
fore, a capital loss for those who own b » there.
this is the case, the demand for bong l‘?nds.
be low and those owning bonds wij) ikely 1,

be logk;
sell them before the price falls, In thjs Sitlx?::-(m
speculative demand for money wjj| be hl.on the
shown in the graph below: '2h a5
A
Ratc of
interest
L,
0

. ——
idle balances Q

The total demand for money LP is plotteq against

the rate of interest (r). This is found by the hog.
zontal addition of curves L, and L,.

Liquidity trap

LP=L 4L,
0 total money balances Q

Any factor other than a change in interest rates,
that causes the demand for money to rise will shif
the LP curve to the right. For example, a rise.in
national income or price level will cause L toi
crease, and thus LP will shift to the right and vice
versa. A change in interest rate causes movement
along the demand for money curve upward o
downward.

; ‘s directly
The transaction: demand for money varies dire

oving
with the money income. Thus the employee MOV

to another job because it pays more will mcre,f!lﬁ 5
cash balances because more morl!i)’_i“come “;n
to higher consumption and hence higher de': o
money for transactions purpose The Preca moliv®:
demand for money, like the tmnsac"o.n.svdy\‘
causes the demand for money to vary posit

the rise in money income.
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ve
ency with which people arc paid also af-
The rcqu.md for money. The less frequently they
fects @ I;IIC greater the level of mon_cy ba]ances
are PO 1o hold. Since the new job will pay
they V! mlikc old job which was paid weekly,
' Elt“is expected 10 result in a rise in cash
:n:ld for transactions purpose. For ex-
balanC‘fsf the individual carned £100 per week and
amples ! iture were spread evenly over the week
his c?‘E"’"c"t all the £100 by the end of the week,
and hc]Sla’vc roughly £50 (in the bank or in cash)
would 11 o: that i, midway between pay days.
n 3"’6;‘ gl s'bcing paid £500 per month he will have
Now if? ge: that is, mid-month. Thus

£250 on avera :
;ouf;l[yhavc a much higher demand for transactions
e 1

purpOSC. '
ver the increased use of credit cards 'in re-

Howec ars has reduced both the transactions and
c‘r:::a{xtionary demands. Paying once a month for
oods requires less money on average than pay-
e separately for each item purchased. AIso. th.e
possession of a credit card reduces or even elimi-

nates the need to hold precautionary balances for

many people-

At high rates of interest, people may choose to
spend less and save more of their income. The
higher rate of interest might encourage some minor
reduction in transactions demand on a temporary
basis. The effect is likely to be bigger on the pre-
cautionary demand: a higher interest rate may en-
courage people to risk tying up their money. If pre-
cautionary demand is for unexpected expenditure
there will be no change, assuming expectations are

the same.

The effects on transaction and precautionary de-
mand for money is shown in the graph below:

Rate of 4
inlerest
J—
Ll e
O - i
active balances Q

Arise in' money income and increase in the interval
::;Tswh_nch the employee.is paid is expected to shift
o :zﬂons_ and precautionary demand for money
g rl) ng.htward. Howev|er there is minimal ef-
) 1s¢ in the rate of interest on these two
YPes of demand for money.

Question 3

So far as the speculative demand for money is con-
cerned it mainly depends on the rate of interest.
People who possess wealth have to decide the best
form in which to hold wealth, for instance, cash or
financial and physical assets. Assets can be com-
pared according to the liquidity and possibility of
eamning income. Cash is totally liquid to the holder
but it earns no interest. Stocks and shares, on the
other hand, are not very liquid but they have the
potential of earning quite a high income for the
holder. There is therefore an opportunity cost to a

~ household if it holds £300 in cash. It could instead

buy shares, and receive dividends and possibly
capital gains, Hence the price of holding money is
the benefits foregone from holding another type of
asset. The higher the interest rate the higher the
opportunity cost of holding cash. Therefore if the
rate of interest is high, to take advantage of the
high rate of return people buy bonds and securi-
ties instead of holding on to their money. Hence
cash holding for speculative motive is going to de-
crease. Similarly if the rate of interest is low people
hold larger cash balances for speculative motive
because the opportunity of holding cash is low.
Thus at high rate the employ’s cash balances for
speculative motive is expected to be lower as com-
pared to the cash holding at low rate of interest.

To further explain the changes in speculative cash
balances let's assume that the only alternative to
holding money is to hold bonds. Since price of
bonds is inversely related to the rate of interest,
therefore it is possible to make a capital gain by
buying bonds when their prices are low and sell-
ing them when they are higher. Hence the em-
ployee will buy bonds when interest rates are high
hoping that interest rates will fall and therefore
bond prices will rise. Bonds will be bought with
money. So a high demand for bonds means a low
speculative demand for money.

Explain what is meant by liquidity preference and
discuss how it might be affected by an increase in

unemployment. [13]
{J10/P4/06 (b)]

Essay

The demand for money refers to the amount of
wealth everyone in the economy wishes to hold in
the form of money balances. In the Keynesian
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analysis of the rate of interest, demand for money
is not based purely on the demand for new capital
goods. In fact, Keynes argued that there are three
distinct motives for preferring to hold wealth in the
form of money as opposed to holding either non-
money financial assets or physical assets.

Individuals need to hold money in order to meet
daily transactions such as buying petrol, paying
for groceries or purchasing a newspaper. Money
balances held for this purpose is called transaction
demand for money. Everyone will hold a certain
amount of money since they are normally paid
weekly or monthly whereas their expenditure is
spread over the whole period. The average amount
held for transactions purposes depends upon the
level of money income, the price level, the time of
the year and the frequency of paydays. In terms of
money income, the higher the money income, the
more likely the individual is to purchase more
goods and services, and therefore require extra
transactions balances. If the price level increases
the demand for money for transactions purposes
will be higher. In the case of the frequency of pay
days, the more frequent, the lower the transactions
demand for money.

The demand for money is also based on the desire
to provide for the unexpected. The precautionary
demand for money allows the individual to cover
unforeseen events, such as the car breaking down,
a lengthy period off work through illness, or an
unexpected redundancy. It is likely to be the case
that as the rate of interest increases, the precau-
tionary demand for money will fall as individuals
place their money in interest-bearing assets, i.e. the
cost of ‘holding” money has increased.

Money balances held for these two purposes is
called active balances (L) i.e. money to be used as
a medium of exchange.

Rate of 4
inlerest
L, N
0 active halances Q

Speculative demand for money is based on the ex-
pectation of making a speculative gain or avoiding
a loss. Money balances held for this purpose are
called idle balances (L,). Keynes outlined the
speculative demand for money in terms of the de-

N\p'gﬁ 7
sire to hold money or fixed income bon :
portant to note that the price of bonds St js in.
of interest are inversely related, We, ’t‘: the

interest is perceived to be unduly p; hc Tate o
viduals they will assume that the next m Y' indj.
downward direction. As stated, whep, tEve isi

interest falls the price of bonds increas Cr
there are capital gains to be made, Thi:: ang g
when the rate of interest is high there wfmg 50,
substantial demand for bonds an henc]“ be 5
speculative demand to hold money, [f, h0w° a loy,
rate of interest is perceived to be unduly IZVcr,the
individuals will assume that the next mo\,:f then
wards, resulting in a fall in bond Prices ang 1 up.
fore, a capital loss for those who own bo’n‘:ere.
this is the case, the demand for bond s ik ]s. I
be low and those owning bonds wil] be '°°kic Yto
sell them before the price falls. In this situatior:,

speculative demand for money wil| pe hi hlhf:
shown in the graph below: B as

A
Rate of
interest
L:
0 idlc balancces ﬁé

The total demand for money LP is plotted against
the rate of interest (r). This is found by the hori-
zontal addition of curves L, and L,

Rate of 4
intcrest

Liquidity trap

LP=L.+L,

o total money balances Q
A change in interest rate causes movement along
the demand for money curve upward or downward.

Any factor other than a change in interest ralés,
that causes the demand for money to change will
shift the LP curve to the rightward or leftward. F?f
example, a rise in national income or price !eVCI will
cause L, to increase, and thus LP will shift to the
right and vice versa.

is likely to decreas®

An increase in unemployment )
i ly resulting

output and national income subsequent
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I Eoonom

nsadio

n demand for money as unem-
tra!
. ald be fo

reed to cut back their spend-
WO ible reduction in consumer spending
ing -sﬁoS: firms’ receipts and their liquidity
TN e : .
o 'tais cxpcctcd {o result in a fall in demand for

oncy: here May be offsetting changes in the
Howeven ‘.hich would prevent demand for money
on@™ 7 = ement actin in terms of provid-
from falling: unemployment benefit can lead to a
incrcas"ﬂ(zi for money or clse credit availability
cdel’ﬂaf“ reater use of credit cards can also
::e %or a fall in incomes resulting from
compens ent. Besides this some unemployment,
uncmP'°m1a| could be already accounted for in
d,w. ;:?:rmin'ams. of. ]iquidity preference hence
would not affect liquidity preference.

Thus a fise in unemployment is expected to affect
liquidity preference only in the absence of compen-

sating factors.

For what purposes do people demand money? [12]

Assess, using the concept of liquidity preference,
the possible links between an increase in the sup-
ply of money, the rate of interest and investment,

[13]
[N11/P4/Q6]

Essay

@

.

The demand for money refers to the amount of
wealth everyone in the economy wishes to hold in
the form of money balances. In the Keynesian
anclysis of the rate of interest, is not based purely
on the demand for new capital goods. In fact,
Keynes argued that there are three distinct motives
fot preferring to hold wealth in the form of money
% opposed to holding either non-money financial
assets or physical assets,

The transactions demand for money

";?l;ﬂsruals nged to hold money in order to meet
. groczr:factlons such. as buying petrol, paying
will holg :S or ?urchasmg a newspaper. Everyone
——y ac.t;rtzun amount of money since they are
pen iIUrepigl weekly or monthly whereas their ex-
terage g Spread over the whole period. The
depends Upozu?]t held for transactions purposes
el he ¢ the level of money income, the price

Me ofthe year and the frequency of pay

days. In terms of money income, the higher the
money income, the more likely the individual is to
purchase more goods and services, and therefore
require extra transactions balances. If the price
lf:Vcl increases the demand for money for transac-
tions purposes will be higher. In the case of the fre-
quency of pay days, the more frequent, the lower
the transactions demand for money.

The precautionary demand for money

The demand for money is also based on the desire
to provide for the unexpected. The precautionary
demand for money allows the individual to cover
unforeseen events, such as the car breaking down,
a lengthy period off work through illness, or an
unexpected redundancy. It is likely to be the case
that as the rate of interest increases, the precau-
tionary demand for money will fall as individuals
place their money in interest-bearing assets, i.e. the
cost of 'holding' money has increased.

Money balances held for these two purposes is
called active balances (L;) i.e. money to be used as
a medium of exchange.

Rate of 4
interest
L,
0 active balances Q

The speculative demand for money

Speculative demand for money is based on the ex-
pectation of making a speculative gain or avoiding
a'loss. Money balances held for this purpose are
called idle balances (L;). Keynes outlined the
speculative demand for money in terms of the de-
sire to hold money or fixed income bonds. It is im-
portant to note that the price of bonds and the rate
of interest are inversely related. When the rate of
interest is perceived to be unduly high by indi-
viduals they will assume that the next move is in a
downward direction. As stated, when the rate of in-
terest falls the price of bonds increases and so
there are capital gains to be made. This being so,
when the rate of interest is high there will be a
substantial demand for bonds and hence a low
speculative demand to hold money. If, however, the
rate of interest is perceived to be unduly low then
individuals will assume that the next move is up-
wards, resulting in a fall in bond prices and, there-
fore, a capital loss for those who own bonds. If
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this is the case, the demand for bonds is Iikc]yl to A ME ~
be low and those owning bonds will be looking to rate of
sell them before the price falls. In this situation the interest
speculative demand for money will be high as
shown in the graph below:
A Re
Rate of
interest
0 Me
. m()ney
Equilibrium is achieved with a rate of inte
L, and the quantity of money Me. If the iy offc_st
est were above Re, people would have monelnter.
) ] » ances surplus to their needs, They Wou|y bal.
idle balances Q these to buy securities and other Stsct d Use
The total demand for money LP is plotted against would drive up the price of securitjeg an:I. } s
the rate of interest (r). This is found by the hori- down the rate of interest toward equilibriym S-n N
zontal addition of curves L) and L,. larly, if the rate of interest were beloy Re, Pe;?lle
et youd e eicint s b T
interest riies, fus lowering their prices g4

®)

Liquidily trap

LP=L,+L,

0 total money balances Q
Thus a change in interest rate causes movement
upward or downward along the demand for money
curve. '

While a change in other determinants such as na-
tional income, price level and frequency with which
people receive their incomes will result in a shift in
the LP function. A rise in national income or price
level, for instance will cause L;, and thus LP curve
to shift to the right and vice versa,

In the money market the condition for monetary
equilibrium is that the rate of interest will be such
that everyone is just willing to hold the existing
supply of money, i.e. interest rate does the job of
equating the quantity of money demanded to the
available supply and hence produces monetary
equilibrium, In the figure below, we see how the
interest rate produces monetary equilibrium.

raising the rate of interest until it reached the gy
librium level. .

{\n increa'se in money supply will affect nationg|
income via changes in the rate of interest, L
assume that monetary authorities seek to adopt
easy monetary measures and attempt to increase
~money supply, say, by lowering liquidity ratio of
commercial banks or buying securities through
open market operation. ;

art |
rate of P rate of part2
interest interest
T\ MS MS,

0 Me Me, money Y

desired investment
expenditure

Figure 2

These measures shift the supply curve of money
from MS to MS; as shown in the first part of ¢
graph. Consequently, there is excess supply of
money at the existing rate of interest Re. PCOP]:
still wish to hold only Me of money balances: by
Me, is now available. In order to eliminal® (heulr.
excess holdings of money, people attempt 0 'nz
bonds and securities. This attempt of bllz(hlei'r
bonds or any other financial assets in"""asefsi e
prices and subsequently lowers the rate 0 oy

est. When interest has fallen to Rei the qu;” aalk
money demanded will have risen t0 cqual th¢
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£ o Me Monetary equilibriun'l is, thus
supplycd gh at a lower ratc of interest.
oS bhsfl‘ 1;1‘3 other part of the graph is called a
¢ H’-cicncy of investment curve (or just a
;nvcstmcnt curve). MEC curve shows
o petween planned investment and the
he rel? m:cst assuming all other things are equal.
1.’° i f’rom pmspectivc yicld of one more

I r."ccsuncnt and the cost of obtaining it.
onit of ”::; (heir investment decisions by compar-
pims MA vith the rate of interest. If, for instance,
ing MECt‘cd real net rate of return on an individual
fh‘FxPchEC) is greater than the real rate of inter-
mj(?d,( tment 1S profitable and hence is under-
' ’“‘{fﬁus ‘nvestment demand curve shows that
ke r the rate of interest, the larger will be the
the Lo stment opportunities that will show

mber of inve .
:l;)roﬁt and, hence, the larger the volume of invest-

ment expenditure that firms wish to undertake.

Note that, because both parts, ir3 the above figure,
pave the intérest rate on the vertical axis, the inter-
est rate can be compared between the two parts.
Both parts show an initial equilibrium with the
quantity of money of Me and an interest rate of Re.
But when the equilibrium is disturbed, say due to
an increase in the money supply to MS,, the rate
of interest falls to Re,. Part (ii) of the Figure tells
us that the fall in the interest rate from Re to Re,
d investment expenditure from I, to

thou

increases desire
L

So far, we have seen that an increase in the money
supply leads to a fall in the interest rate which, sub-
sequently results in an increase in desired invest-
ment expenditure. However, the extent to which a
rise in money supply causes the rate of interest to
fall and investment to increase depends on the
elasticity of the LP curve and the sensitivity of in-
vestment to a change in the rate of interest. If, for
instance, economy operates at the horizontal part
of LP i.e. liquidity trap, then increase in MS fails to
bring a fall in interest rate and hence would not
.affect planned investment at all. This is illustrated
in the graph below.

Rate of A

e MS MS,

-
>

l——> Liquidity trap

LP

|

Question 5

At very low rate of interest, speculators may ex-
pect that the rate of interest cannot fall any further.
Thus LP curve becomes horizontal i.e. demand for
moncy is perfectly interest elastic. No one wants
to buy bonds when interest rate is so low and is
expected to rise in future. Thus if monetary au-
thorities increase MS, this would simply add to
speculative balances and the rate of interest would
remain unchanged, thus increase in MS is unable
to stimulate investment.

Similarly a monetary stimulus would fail to achieve
the desired results if investment is interest inclas-
tic. Consider the graph below.

part 1 part 2
.rate of rate of
interest interest
A A

-] - ———

Re ==~~~
Re, R e et

LP

0 Me Mc, mon'ey 0

desired investment
expenditure

The graph above shows that the extent to which a
rise in MS stimulates the level of investment de-
pends on interest elasticity of the investment
curve. An interest inelastic investment function (I1)
would result in a proportionately smaller rise in in-
vestment due to a given fall in interest rate. On the
contrary, an interest elastic investment function (I2)
would produce a proportionately larger rise in in-
vestment than the given fall in interest rate.

Thus we conclude that a rise in MS is expected to
reduce interest rate and investment to rise. How-
ever, the extent of changes in both the interest rate
and then investment depends on the elasticity of
demand for money and interest sensitivity of in-
vestment.

For what purposes do people demand moncy?

[10]
INI2/P4/07(a)]

Essay

The demand for money refers to the amount of
wealth everyone in the economy wishes to hold in
the form of money balances. In the Keynesian
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analysis of the rate of Interest, unlike the loanable
funds theory, the demand for money |s not based
purely on the demand for new capital goods. In
fact, Keynes argued that there are three distinct
motives for preferring to hold wealth in the form of
money as opposed to holding either non-money
financial assets or physical assets.

The transactions demand for money

Individuals nced to hold money in order to meet
daily transactions such as buying petrol, paying
for groceries or purchasing a newspaper. Everyone
will hold a certain amount of money since they are
normally paid weekly or monthly whereas their ex-
penditure is spread over the whole period, The av-
erage amount held for transactions purposes de-
pends upon the level of money income, the price
level and the frequency of pay days, In terms of
money income, the higher the money income, the
more likely the individual is to purchase more

goods and services, and therefore require extra:

transactions balances, If the price level increases
the demand for money for transactions purposes
will be higher. In the case of the frequency of pay
days, the more frequent, the lower the transactions
demand for money.

The precautionary demand for money

The demand for money is also based on the desire
to provide for the unex-pected. The precautionary
demand for money allows the individual to cover
unforeseen events, such as the car breaking down,
a lengthy period off work through illness, or an
unexpected redundancy. It is likely to be the case
that as the rate of interest increases, the precau-
tionary demand for money will fall as individuals
place their money in interest-bearing assets, i.e.
the cost of ‘holding’ money has increased.

Money balances held for these two purposes is
called active balances (L,) i.e. money to be used as
a medium of exchange.

Rate of 4
interest
L,
0 active balances Q

The speculative demand for money

Speculative demand for money i p,
se

pectation of making a specylativn . .0 ON

a loss. Moncy balance: he]:{at;:: ﬁ’\a,’ﬂ or av:izicx'
called idle balances (L,), Keyne 'S Purpog, ;:z
speculative demand for money i, t: OUtlingg the
sire to hold money or fixed income b"ns fiha ¢ °
portant to note that the price ofbond‘:nds. iS iy
of interest are inversely relateq, Whe and the e
interest is perceived to be unduly p; € atg o
viduals they will assume that the nmlgh b
downward direction. As stated, whenmo
interest falls the price of bonds in%ath
there are capital gains to be made, ThiSebs and 5,
when the rate of interest s high th er: ting 5o
substantial demand for bonds ang henwlll be 4
speculative demand to hold money, If. by Ce a Jgy,
rate of interest is perceived to be unéu]ywlevem J
individuals will assume that the neyt movovf then
wards, resulting in a fall in bong Price IS up.
there-fore, a capital loss for those whq owne; and,
If this is the case, the demand for bonds is !iko|“ds.
be low and those owning bonds wil| be |00ki= yto
sell them before the price falls, In this situaﬁo:g“:o
speculative demand for money will be high e
shown in the graph below: o

A

Rate of
interest

L

0 1dlc balances —6

The total demand for money LP is plotted against
the rate of interest (r). This is found by the hori-
zontal addition of curves L, and L,

Rate ol 4
interest
Liquidity trap
'Lp=L,tL
0 total money balances Q

Any factor other than a change in interes} fa“.;’
that causes the demand for money to risé W']! Shl-n
the LP curve to the right. For example, rlsei:‘.
national income or price level will cause Lyt
crease, and thus LP will shift to the right.
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called idle balances (L2). Keynes outlined the
speculative demand for money in terms of the de-
sire to hold money or fixed income bonds. It is
important to note that the price of bonds and the
rate of interest are inversely related. When the ratc

of interest is perceived to be unduly high by indi-
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downward direction. As stated, when the rate of

e of bonds increases and so
be made. This being s0,
erest is high there will be a
substan!ial demand for bonds and hence a low
e demand to hold money. If, however, the
rate of iiterest is perceived to be unduly low then
individuals will assume that the next move is up-
wards, resulting in a fall in bond prices and,
there-fore, a capital loss for those who own bonds.
If this is the case, the demand for bonds is likely to
be low and those owning bonds will be looking to
sell them before the price falls. In this situation the
speculative demand for money will be high as

shown in the graph below:
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The total demand for money LP is plotted against
the rate of interest (r). This is found by the hori-

zontal addition of curves L; and L.
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held for transactions purposes depengs U
Rate of 4 level of money income, the price leve| .th Pon th,
interest '

Liquidity trap

LP=L +L,

0 total moncy balances Q
A change in interest rate causes movement along
the demand for money curve upward or downward.

Any factor other than a change in interest rates
that causes the demand for money to change will
shift the LP curve to the rightward or leftward. For
example, a rise in national income or price level will
cause L, to increase, and thus LP will shift to the
right and vice versa.

Question 7

(a)

®)

Explain the motives for the demand for money
according to the Keynesian liquidity preference
theory. [12]

A worker is a weekly paid shop assistant. She is
then promoted to a manager in a larger store on a

higher monthly salary. At the same time interest
rates fall.

Discuss how these changds would affect the

worker’s demand for money. [13]
[N15/P4/04]

Essay
(@) The demand for money refers to the amount of

wealth everyone in the economy wishes to hold in
the form of money balances. In the Keynesian
analysis of the rate of interest, demand for money
is not based purely on the demand for new capital
goods. In fact, Keynes argued that there are three
distinct motives for preferring to hold wealth in the
form of money as opposed to holding either non-
money financial assets or physical assets.

Individuals need to hold money in order to meet
daily transactions such as buying petrol, paying
for groceries or purchasing a newspaper. Money
balances held for this purpose is called transaction
demand for money. Everyone will hold a certain
amount of money since they are normally paid
weekly or monthly whereas their expenditure is
spread over the whole period. The average amount

= T

T —y—

the year and the frequency of pay 4, . ‘;llmcof
of money income, the higher the m°ne'y I" termg
the more likely the individual is ¢ p“"Chasn Me,
goods and services, and therefore re u em
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will be higher. In the case of the freqUency ?foses
days, the more frequent, the lower the tramacfpa
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Speculative demand for money is based on the ex-
pectation of making a speculative gain or avoiding
a loss. Money balances held for this purpose are
called idle balances (L,). Keynes outlined the
speculative demand for money in terms of the de-
sire to hold money or fixed income bonds. It isim-
portant to note that the price of bonds and the rate
of interest are inversely related. When the rate of
interest is perceived to be unduly high b)"iffd"
viduals they will assume that the next move isin?
downward direction. As stated, when the rate of
interest falls the price of bonds increases fl"d ®
there are capital gains to be made. This beins 5‘:
when the rate of interest is high there will blcw
substantial demand for bonds and hence @ oe
speculative demand to hold money. If, howevef;hen
rate of interest is perceived to be unduly |0“fs upr
individuals will assume that the next m(jV‘S' -l
wards, resulting in a fall in bond pric® onds
there-fore, a capital loss for those who own
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case, the demand for bonds is likely to
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(otal demand for money LP is plotted against
::;erate of interest (r)- This is found by the hori-
zontal addition of curves L, and L,.

pate of 4
intercst
Liquid_ity trap
1
0 Q

A change in interest rate causes movement along
the demand for money curve upward or downward.

Any factor other than a change in interest rates,
that causes the demand for money to change will
shift the LP curve to the rightward or leftward. For
example, a rise in national income or price level will
cause L, to increase, and thus LP will shift to the
right and vice versa.

® A worker is a weekly paid shop assistant. She is
then promoted to a manager in a larger store on a
higher monthly salary. At the same time interest
rates fall,

Discuss how these changes would affect the
worker's demand for money.
::::Ordi_ng to the theory of liquidity preference the
fre Zactlonafy den'[and for money is affected by the
of ?n:: ¢y with which people are paid and the level
¢am th;n ¢ they earn. The higher the income they
b the lr]r.lore they are likely to spend and there-
Mone s-lg!mr is their transactionary demand for
¥ Similarly the less frequently they are paid,

the greater the Jevel of moncy balances they will
tend to hold.

In the given situation the worker has been pro-
moted from the shop assistant to a manager in a
large store and she is entitled to receive monthly
salary as opposed to weekly wages therefore her
!ransactionary demand for money is expected to
increase as shown in the graph below;

Rate of 4 MD, MD,
intcrest
—_—
0 ) o
active balances Q

If, for example, she was paid $200 per week and she
was spending all $200 by the end of week and her
expenditure were spread evenly over the week then
on average she was holding roughly $100 in cash;
that is midway between pay days. Now she is paid
a higher monthly income say $1000, therefore she
will have roughly $500 cash on average; that is
mid-month. This increase in her cash balances is
reflected in a rightward shift in the MD curve and
it has resulted partly due to an increase in her in-
come and. partly due to the longer interval with
which she will be paid as a manger.

The effect, however may be opposite if her income

* now allows her to obtain facilities such as debit or

credit cards: This is because paying once a month
for goods requires less money on average than
paying separately for each item purchased. Also it
may reduce or eliminate the need to hold cash for
precautionary motive. So if she uses these bank-
ing instruments more frequently than her cash
holding my actually decline.

A fall in interest rate is also likely to affect her ac-
tive cash balance, albeit rather small. At lower rate
she may choose to spend more and save iess of
her income. Also this may encourage her to bor-
row and spend more.

A fall in interest rate, however would affect he-
speculative demand for money. Speculative de:
mand for money refers to holding cash with the
purpose to buy financial assets such as bonds,
shares or foreign currencies and is referred to as

idle balances.

-y T e
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Since market prices of assets such as government
securities vary inversely with the rate of interest,
therefore a fall in the rate of interest will increase
their prices and if she holds these assets then she
will probably sell them while their prices are higher,
hoping to buy them back again when interest rate
rises and their prices fall. In the meantime she will
hold cash balances, So, fall in interest rate is likely

to increase her demand for money for speculative
motive.

If she is living in an open economy where large-
scale movement of currencies across the foreign
exchange takes place, expectations about changes
in exchange rates is a major determinant of the
speculative demand for money. A fall in interest
rate will result in outflow of capital therefore it will
drive the exchange rate down. This will increase
speculative demand for the country’s currency
~ hoping that when interest rate rises in future the
currency will appreciate in value,

So when interest rate falls not only she will hold
money in anticipation of a fall in securities prices,
but she will also hold higher speculative balances in
anticipation of an appreciation of the exchange rate.

Question 8

Explain why people demand money according to
the liquidity preference theory. [12]

[J17/P4/Q4(a)]

Essay

Demand for money refers to the amount of wealth
everyone in the economy wishes to hold in the
form of money balances. Keynes argued that there
are three distinct motives for preferring to hold
wealth in the form of money as opposed to hold-

ing cither non-money financial assets or physical
assets.

Firstly, Individuals need to j,
meet daily transactions such
ing for groceries or purchas;
is identified as transactiong
Everyone will hold a cert
since they are normally p
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period.
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Though active balances remain independent of ig-
terest rate as indicated by the curve L,, but any
changes in other factors could shift L,. A rightward
shift suggests that households and firms prefer to
hold more cash or otherwise it can shift lefiward.
Non-interest factors include the changes in level of
money income, the price level, the time of the yea,
the frequency of pay days and the use of credit or
debit cards. In terms of money income, the higher
the money income, the more likely the individual is
to purchase more goods and services, and l:lCFe'
fore require extra transactions balances thus shift
ing L, rightwards, If the price level increases thli
demand for money for transactions purposes “.ls
also be higher. In case of frequency of pay da)e:
the more frequent, the lower the transacnon:hcn
mand for money. Certain time of the Y& ol
people need more cash L rises. Also Wherir:nsac-
start using more banking instruments ford for 4
tions they need to hold less cash, dema®

tive balances, thercfore, falls.
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it Is important to note that the price of bonds and
the rate of interest are inVerseIx related.‘When, for
instance, the rate of interest is pc.:rcewed to be
unduly high by individuals they will assume that
the riext move is in a downward direction that will
result in higher prices of bonds. So there are
capltal gains to be made by b.uying bonds and
speculative demand for money will be lower, On the
contrary when the rate of interest is perceived to
be unduly low individuals will assume that the next
move is upwards that will drive prices of bonds
down and there may be a capital loss for those
who own bonds. If this is the case, the demand for

bonds is likely to be low and those owning
bonds will be looking to sell them before their
prices fall. In this situation the speculative
demand for money will be high. The total
demand for money (LP) is plotted against the
rate of interest (r). This is found by the
horizontal addition of curves L, and L,.

Rate of 4
interes(

liquidity trap

1
LP=L,+L,
0 >
Total money balances Q

0 Me Me, mo;ey

Thus a change in interest rate causes movement
upward or downward along the demand for money
curve. While a change in other determinants such
as national income, price level and frequency with
which people receive their incomes will result in a
shift in the LP function. A rise in national income
or price level, for instance will cause L, and thus
LP curve to shift to the right and vice versa.

Question 9

Economic models have little practical relevance.

Discuss whether this is true of the analysis of how a
fall in interest rates might affect an economy’s GDP.
[25]

{J17/P4/05]

Essay

(a) In the money market interest rate does the job of
equating the quantity of money demanded to the
available supply and hence produces a monetary
equilibrium. However an increase in money supply
will affect GDP via changes in the rate of interest.
Let’s assume that monetary authoritics scek to
adopt easy monetary measures and attempt to in-
crease money supply and interest rate to fall, say,
by lowering liquidity ratio of commercial banks or
buying securities through open market operation.

art | art 2
rate of P rate of P
interest i interest
A MS MS] ‘ A

desired investment
expendilure

These measures shift the supply curve of money
from MS to MS, as shown in the first panal of the
graph. Consequently, there is excess supply of
money at the existing rate of interest Re. People
wish to hold only Me, but Me, is now available to
them. In order to use their excess holdings of
money, people attempt to buy bonds and securi-
ties. This increases bond prices and subsequently
lowers the rate of interest. When interest has fallen
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to Re, the quantity of money demanded will have
risen to cqual the available supply Me,. Monetary

cquilibrium is, thus re-cstablished, though at a
lower rate of interest.

The curve in panal 2 of the graph shows invest-
ment function. It is derived from prospective yield
of one more unit of investment and the cost of
obtaining it. Firms make their investment decisions
by comparing yield with the rate of interest. When
the real net rate of return on an individual project
is higher than the real rate of interest, investment
is profitable and hence is undertaken. Thus invest-
ment demand curve shows that the lower the rate
of interest, the larger will be the number of invest-
ment opportunities that will show a profit and,
hence, the larger the volume of investment expen-
diture that firms wish to undertake.

In this case a fall in interest rate from Re to Re, in-

creases planned investment from K to K. Now we

see how these changes eventually affect GDP.
Consider the graph below.

Withdrawals
& Leakages
1x W=s+t+m
/ : =L+G+X
1
“ =1+ G+X

D Real GDI7

The withdrawals (W) function is the vertical sum
of the net saving, net taxes and import functions.

Similarly, the injection (J) function is the vertical .

addition of the investment, government expendi-
ture and export functions. Initially, the equilibrium
level of real GDP is located at point a where W=J,
indicating Y, as the equilibrium level. A rise in in-
vestment expenditure shifts the J function upwards
and will cause GDP to increase (Y, -Y,) by pro-
portionately more than the increase in investment
(b-c). The number of times that the increase in GDP
is greater than the increase in investment is known
as the multiplier (k).
So what causes the multiplier effect? The answer
is that, any increase in injection into the economy
will produce a stream of new incomes through ad-
ditional spending. For example, if firms to invest
more, this will lead to more people are being em-
ployed and hence more incomes are being paid to
house-holds. Households will then spend part of
this increased income on domestically produced
goods and the remainder will be withdrawn. This

- extra spending, it is the extra
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Also, the extent to .which a rise in money supply
causes the rate of interest to fall and investment
and consumption expenditure to increase depends
‘on the §ensi1ivity of investment and consumption
expenditure to a change in the rate of interest, If
for instance, interest rate falls to the level wher;
economy operates at the horizontal part of LP i,
liquidity trap, it will only encourage people to hold
their wealth in cash. This is because the lowest
possible interest rate means highest prices of all
assets and in future if interest rate rises it will bring
those asset prices down. Investment, therefor,
will not respond to this fall in interest rate ad
hence it will have no effect on the country’s GOP.

Thus we conclude that this economic model b8
immense practical relevance for it provides agood
understanding of how an increase in money S:g
ply feed through interest rate and incre?scsr‘ow:
The varying results in different ecor}qmlcs,m-m
ever, are subject to the differing condmonsl osi
can accommodate by modifying the model ©°
those conditions.

ase in price



